==
A & 0l & AF 2 E A A
SH: otEBe I
HE: MO OFMY MDY NHLH
Chelr fIF MBI YH(AMEHAANAALY) (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
oh& zte| 16,237,672 8,834,000 7,403,672
J| 8,858,250 8,134,000 724,250
e 7,379,422 700,000 6,679,422
Ao oM M2 NFeEH 15,237,672 7,834,000 7,403,672
Jl| 7,858,250 7,134,000 724,250
s 7,379,422 700,000 6,679,422
A otMze| 2 (FEFHIAIXEAY) 633,746 569,000 64,746
J| 612,250 569,000 43,250
s 21,496 0 21,496
N OHM 22 633,746 569,000 64,746
J| 612,250 569,000 43,250
s 21,496 0 21,496
307 21201 A 633,746 569,000 64,746
J| 612,250 569,000 43,250
s 21,496 0 21,496
02 It M AHE L 633,746 569,000 64,746
OQIztetH et 2T AIJI = RI& 633,746 569,000 64,746
J| 612,250 569,000 43,250
e 21,496 0 21,496
JlEeXMg(FE=HT SN AAY) 8,303,638 5,655,000 2,648,638
J| 5,636,000 4,955,000 681,000
s 2,667,638 700,000 1,967,638
Jl2 X ANdAd 5,316,802 4,540,000 776,802
J| 3,840,000 3,840,000 0
s 1,476,802 700,000 776,802
401 Al HI YL 201 Y| 4,506,802 3,730,000 776,802
J| 3,730,000 3,730,000 0
s 776,802 0 776,802
01 A& HI 4,479,869 3,708,610 771,259
O8H sXga 2+2FH (8I12) 7,000 0 7,000
O=gIIEtEHIALY 476,347 0 476,347
Oz=2mlol AdtdE HUIALL (690 2) 287,912 0 287,912
03 A& =TI 26,933 21,390 5,543
O=gIIEtEHIALY 479,802,000& = 0.72% 3,455 0 3,455
Os=Ilof A&td FHAS
290,000,000& = 0.72% 2,088 0 2,088
Es HOA=SE =4 1,190,836 0 1,190,836
401 AIEHIZL 201 1,190,836 0 1,190,836
01 A& Bl 1,181,564 0 1,181,564
O=ss HOoAEd =4 1,181,564 0 1,181,564
03 Al S THHI 9,272 0 9,272
Ofs HoA2e =4
1,186,564,000& *0.36% 4,272 0 4,272
(OF= =3 5,000 0 5,000




A otA 2te| Bt
gz Ao MY Mt AGed

Sl JRXEAY (REFHT AT AY) CEEEED
SA B (30) - MM - BES 01l ¢ o4 o8 o HDS2
BAS MEHA ZXEB S 681,000 0 681,000

p] 681,000 0 681,000
401 AIEHI L 201 bl 681,000 0 681,000
p] 681,000 0 681,000
01 Al bl 664,811 0 664,811
Owi4 MstAtel =SX&2 A (1S) 664,811 0 664,811
| 664,811 0 664,811
02 2Zt2/Hl 12,000 0 12,000
B4 AGHARR ZXIEB HE 12,000 0 12,000
p] 2,000 0 12,000
03 Al& = Ch bl 4,189 0 4,189
O M5tAI2l =X 53 2
664,811,0008 * 0.63% 4,189 0 4,189
p] 4,189 0 4,189
AP XFI AR (21K 28 X & KT /AL 4,690,288 0 4,690,288
AFRITE SIS Al & ALY 2,020,827 0 2,020,827
201 Yyt Ayl 181,750 0 181,750
03 #AS bl 181,750 0 181,750
OYFUEARY BeiIIs L BABR 181,750 0 181,750
401 AIEHI L 2T bl 1,119,077 0 1,119,077
01 Al bl 1,110,538 0 1,110,538
OYZSUE DSF L SHA A 292,891 0 292,891
OMNE RE22XT ZESFA &3 (1S) 198,570 0 198,570
O%i4 YIHH 2 HET ZHAL 215,044 0 215,044
OFUEE YASTSAL 25 208,943 0 208,943
OHMZBE XM THUS MIBIWLAY 57,590 0 57,590
OXEINSE HZI| XA (10H) 130,000 0 130,000
ORol AL &X 7,500 0 7,500
02 Zr2lHl 5,000 0 5,000
OYZSUE DSF L SHA A 5,000 0 5,000
03 Al = Ch bl 3,539 0 3,539
OMHTE REI22XT ZEHFA &3
198,570,008 * 0.72% 1,430 0 1,430
OYZSUY DST L HY A
292,891,000 * 0.72% 2,109 0 2,109
402 IR O] B 370,000 0 370,000
01 S XHZ A EE 370,000 0 370,000
OUSH PAEXAE AX(1h2) 270,000 0 270,000
O%Z FZDLDA JIET AYAL 100,000 0 100,000
405 TH&HH St 350,000 0 350,000
IR EEEEN 350,000 0 350,000
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AMNSTLAEAD (FEFHX AT ZALY)

SA-ZH () - HRAY - BES Off &4 JEH Hnsz
OO0ISE SFLALAAD 20K (HY L =&
J1) 250,000 0 250,000
ORel gEBII| 7Y 20,000,0002! *5LH 100,000 0 100,000
B R0 A0 M MEH 25,679 0 25,679
401 AlEHI R 2 OhYI 25,679 0 25,679
01 Al 25,679 0 25,679
Ofi4+S =X L FHHY AL 25,679 0 25,679
E=SHSNMHAS 6,831 0 6,831
405 XtaHE S| 6,831 0 6,831
01 AL 2E 5 S| 6,831 0 6,831
OEsS =SXNIY ASHE 7Y 6,831 0 6,831
QoD AAUSHE A= 28,251 0 28,251
401 A2 HIL 2 TH Y] 20,000 0 20,000
01 Al&Hl 20,000 0 20,000
OBYH =Xal2 =HIY B A 20,000 0 20,000
405 Xt &k 3 S| 8,251 0 8,251
01 AL SZ 3 S| 8,251 0 8,251
OB =X a2 CCTV & 8,251 0 8,251
ZNEO HSEME AS 74,473 0 74,473
401 Al HIL 2T Y] 54,473 0 54,473
01 Al 54,473 0 54,473
OZNE =X32 HylAL 54,473 0 54,473
405 XHaHE Sl 20,000 0 20,000
NIBEEEEEN 20,000 0 20,000
OZAS =2X3D AZ HERY (X S) 20,000 0 20,000
SOIHLHAIY A ER2A &3 668, 150 0 668, 150
206 2 b 3,000 0 3,000
01 T2 3,000 0 3,000
OSIIHYUAL A 2824 2R 3,000 0 3,000
401 Al HIL 2T ] 296,150 0 296, 150
01 Al 278,448 0 278,448
O=JI AWML A 2824 &3 278,448 0 278,448
02 22l 12,893 0 12,893
OSIIHAUAIE A 2824 &3 12,893 0 12,893
03 Al 2 CHH| 4,809 0 4,809
O=JIHANAL A 2824 &3
763,199,00080 * 0.63% 4,809 0 4,809
405 XtaHE Sl 369,000 0 369,000




A otA 2te| Bt
N MO HdE MOt NS

tC o

=
Cel ANGARRAEAS(REFHIA

KAL) (Sl & &)

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
01 AL ESH SH 369,000 0 369,000

OsJAHSUMES: SEEA sIIH & 28E

g = 369,000 0 369,000
Jtot0l 2+ HASHALS 1,866,077 0 1,866,077
401 Al HIZ 201 Y] 1,866,077 0 1,866,077
01 A& HI 1,866,077 0 1,866,077

OJt0t0l 2+ HEASALY 1,866,077 0 1,866,077




